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SUBIECTUL A – USE OF ENGLISH

I. Read the following text and put the verbs in brackets in the correct form (10 x1p = 10p)

Dear John,
I have a little problem, to say the least and would be grateful for your advice. Things have gone really bad this week at work. On Thursday I missed this really important meeting. I supposed, as (1) (DO) ________ we all, that the meeting would be cancelled  as my boss, Mr. DW had the flu. Little (2) (KNOW) _______ that Mike Tranter himself, DW’s boss, was there in the meeting room, (3) (WAIT) ________ for us all and nobody turned up! Apparently, Mike (4) (SEND) _________ me an e-mail that morning, (5) (ASK) __________ me to tell everyone the meeting was still on, but that (6) (BE) _________ the day I was too busy to check my e-mails, wouldn’t it! Mike was livid and accused me of (7) (HAVE) ____________ no common sense whatsoever. I tried (8) (APLOGIZE) ________ and suggested we (9) (REARRANGE) _________ the meeting, but he wasn’t in the least bit interested. From his point of view, not only had I failed to attend a meeting, but I had also failed to communicate a vital message which he’d entrusted me with. No sooner had I emerged from Mike’s office after a dressing-down that (10) (LAST) ________ a good 15 minutes than who should phone me but DW wanting to know exactly what had happened at the meeting. He must have arranged for Mike to chair the meeting in his place. Well, I feel like I might as well go and hand in my resignation now! Any advice more than gratefully received by a desperate friend,

Tim
II. Use the word given in brackets to form a word that fits in each sentence (10 x 1p = 10 p)
Three or four cups of coffee a day may not sound (1) _______ (EXCESS), yet some of the minor symptoms many of us experience (like headaches, indigestion or high blood (2) ______(PRESS) may be related to caffeine (3) ______ (TAKE). A cup of real coffee contains about 100 mg of caffeine. It stimulates the (4) ______ (NERVE) system, heart and kidneys. Heavy caffeine (5)______ (CONSUME) is likely to produce a general feeling of anxiety. The effects that caffeine has on the human body depends to some extent on personality and (6) ______ (PSYCHOLOGY) factors. People, for example, who take tranquillizers are often (7) ______ (SENSE) to caffeine. Drinking more coffee only makes their symptoms worse. Although there is no clear evidence of any long-term dangers of caffeine, it might be worthwhile trying to find out if it is responsible for minor (8) _______ (ILL) by gradually reducing the amount we drink. Switching to tea or (9) _____ (CAFFEINE) coffee is not the answer either because it tends to have a greater effect on your stomach, causing (10) _______ (DIGEST).
III. Choose the correct answer A, B, C or D (1 x 10 p = 10 p)
1. De frică să nu răcească, Maria și-a pus cel mai gros pulover pe care îl avea.

a. For fear she will catch a cold, Maria put on the warmest pullover she had.
b. For fear she might catch a cold, Maria took on the warmest pullover she had.

c. For fear she might be cold, Maria put on the warmest pullover she had.

d. For fear she might catch a cold, Maria put on the warmest pullover she had.
2. N-ar fi trebuit să te duci la supermarket pentru că făcusem eu deja cumpărăturile.
a. You needn’t have gone to the supermarket because I had already done the shopping.
b. You mustn’t have gone to the supermarket because I had already done the shopping.
c. You didn’t need to go to the supermarket because I had already done the shopping.
d. You couldn’t have gone to the supermarket because I had already done the shopping.

3. Which of the sentences best rephrases the original sentence?
 Nobody from this school has ever written a better composition.

a. A better composition has never been written by nobody from this school.

b. Never a better composition has been written by anybody from this school.

c. Such good composition has never been written by anybody from this school.

d. Never has a better composition been written by anybody from this school.

4. Choose the right ending for the following sentence: ‘I don’t like horror films and …

a. also does my friend.

b. my friend does neither.

c. my friend doesn’t either.

d. my friend doesn’t also.

5. The equivalent of ‘I couldn’t understand what I was reading’ is 

a. I couldn’t see sense of what I was reading.

b. I couldn’t find any sense of what I was reading.

c. I couldn’t make sense what I was reading. 

d. I couldn’t make sense of what I was reading.

6. They are trying to make up for the time wasted playing cards.


In the sentence above the phrase written in bold means 

a. to adjust

b. to keep up with

c. to compensate

d. to make out

7. Choose the correct explanation of the following: ‘You ought to stand up to him.’

a. You shouldn’t be afraid to argue with him.
b. You should support him.

c. You are probably the same height as he is.

d. You should get up when he comes in.

8. I can’t lend my bike to him. He’s rather careless and I paid……… for it

a. through the fingers.

b. through the nose.

c. through the heart.

d. through the ears.

9. Choose the right ending for the sentence: Though he left home rather late, John is now on his way to London; he is lucky ……

a. that he would catch the train.

b. to catch the train.

c. to have been catching the train.

d. to have caught the train.

10. Choose the suitable explanation for the following sentence: ‘That’s all for the best.’

a. The others will have to wait their turn.

b. Everything about it is perfect.

c. It’s finished happily in spite of everything.

d. It’s an advantage under the circumstances.
IV. Translate the following text into Romanian (10p)

After awhile - after his alarm had become too great to be ignored - he was able to find out what she was feeding him. It was a pain-killer with a heavy codeine base called Novril. The reason she had to bring him the bedpan so infrequently was not only because he was on a diet consisting entirely of liquids and gelatines (earlier, when he was in the cloud, she had fed him intravenously), but also because Novril had a tendency to cause constipation in patients taking it. Another side effect, a rather more serious one, was respiratory depression in sensitive patients. Paul was not particularly sensitive, even though he had been a heavy smoker for nearly eighteen years, but his breathing had stopped nonetheless on at least one occasion (there might have been others, in the haze, that he did not remember). That was the time she gave him mouth-to-mouth. It might have just been one of those things which happened, but he later came to suspect she had nearly killed him with an accidental overdose. She didn't know as much about what she was doing as she believed she did. That was only one of the things about Annie that scared him.

He discovered three things almost simultaneously, about ten days after having emerged from the dark cloud. The first was that Annie Wilkes had a great deal of Novril (she had in fact, a great many drugs of all kinds). The second was that he was hooked on Novril. The third was that Annie Wilkes was dangerously crazy.
SUBIECTUL B – INTEGRATED SKILLS

Read the text below and do the tasks that follow.

With popular music, as with classical music, the only way to come to understand it thoroughly, it is said, is by performing it. The problem with many pop bands is that their members are self-taught, and consequently, if they ever reach the level of public performance, they often only succeed in perpetuating the musical conventions to which they have been exposed.

So what role, if any, does music teaching in school have to play? The current fashion in musical education in Britain dictates that young children must be creative and active whilst the playing of recorded music to children has been made to seem like an easy option for lazy teachers. 

I well remember a head teacher sharing with me her delight over the new home hi-fi system she had acquired. Mozart, she said, eased the burden or writing hundreds of students’ reports enormously. Within a few weeks of our conversation, however, she had banned herself from using the system while working, so inaccurate had her report writing become. 

The aural awareness of the average listener to classical music – and I am afraid that includes a lot of music teachers – is also severely underdeveloped. Really discriminating listeners cannot tolerate music as a background to any activity that requires their concentration. Because they are mentally processing every note they cannot shut the music out in order to perform any other task.

What’s more, if musical performance, recorded or live, is to have an impact on the young, it is not going to be because it has been suitably prepared for creative exploration. More likely, it will be because a particular piece of music is able to move those pupils who are susceptible to such motivation by its irrational, primeval power. That is why it is so important that children should encounter the real world of music – preferably live as well as recorded - in as much variety as possible.
I. For each question choose the correct letter A, B, C or D (5 x 2p= 10p)

1. According to the writer, what do contemporary pop bands lack?

A. genuine musical talent

B. inspirational role models

C. an innovative spirit

D. musical conventions to follow

2. In the writer’s view, music classes in school 
A. are too passive in nature.
B. over-emphasize the role of music making.
C. are over-reliant on recorded music.
D. fail to exploit the experience of teachers.
3. What point does the example of the head teacher illustrate?

A. Popular music doesn’t require concentration.
B. Good music demands our full attention.
C. Any kind of music can be distracting.
D. Classical music helps us to concentrate.
4. What point is made about music teachers in the fourth paragraph?

A. They are inclined to listen to classical music.
B. They sometimes misuse recorded music in their classes.
C. Some of them focus too narrowly on music in their training.
D. Many of them have not learned to listen to music effectively.
5. In the writer’s opinion, what aspect of a musical performance is most likely to appeal to young people?

A. its emotional impact

B. its creative energy

C. its unpredictable nature

A. its educational value
II. Read the text again and write an opinion essay starting from the first sentence of the text.  (280-300 words) (50 p)
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